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 1. The question paper will be given in the form of a Question Booklet. There will be four versions 
of question booklets with question booklet alpha code viz. A, B, C & D. 

 2. The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet of 
the question booklet. 

 3. The Question Booklet Alpha Code allotted to you will be noted in your seating position in the 
Examination Hall. 

 4. If you get a Question Booklet where the alpha code does not match to the allotted Alpha Code 
in the seating position, please draw the attention of the Invigilator IMMEDIATELY. 

 5. The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If 
your Question Booklet is un-numbered, please get it replaced by new Question Booklet with 
same Alpha Code. 

 6. The Question Booklet will be sealed at the middle of the right margin. Candidate should not 
open the Question Booklet, until the indication is given to start answering. 

 7. Immediately after the commencement of the examination, the candidate should check that the 
Question Booklet supplied to him contains all the 100 questions in serial order. The Question 
Booklet does not have unprinted or torn or missing pages and if so he/she should bring it to the 
notice of the Invigilator and get it replaced by a complete booklet with same Alpha Code. This 
is most important. 

 8. Question Serial No. 1 to 70 are printed both in English and in Official Language 
(Malayalam). Doubts regarding the meaning and translation of Question Serial No. 1 to 
70 will be settled based on the Questions in English. 

 9. Two blank pages are provided before the last page of this Question Paper for rough work. 
 10. Please read carefully all the instructions on the reverse of the Answer Sheet before 

marking your answers. 
 11. Each question is provided with four choices (A), (B), (C) and (D) having one correct answer. 

Choose the correct answer and darken the bubble corresponding to the question number using 
Blue or Black Ball-Point Pen in the OMR Answer Sheet. 

 12. Each correct answer carries 1 mark and for each wrong answer 1 / 3 mark will be 
deducted. No negative mark for unattended questions. 

 13. No candidate will be allowed to leave the examination hall till the end of the session and 
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure that 
the Invigilator has verified all the entries in the Register Number Coding Sheet and that the 
Invigilator has affixed his/her signature in the space provided. 

 14. Strict compliance of instructions is essential. Any malpractice or attempt to commit any kind 
of malpractice in the Examination will result in the disqualification of the candidate. 

 INSTRUCTIONS TO CANDIDATES 

Question Booklet 
Alpha Code 

Question Booklet 
Serial Number A 

 Total Number of questions : 100 Time : 75 Minutes 

           Maximum Marks : 100 
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1. Which among the following events is/are associated with the Cold War? 

 (i) Cuban Missile Crisis 

 (ii) Pearl Harbor Attack 

 (iii) Vietnam War 

 (iv) The formation of NATO 

 (v) The Munich Conference 

(A)  Only (i), (iii) and (iv) (B) Only (i), (ii) and (v) 

(C)  Only (i), (iii) and (v) (D) Only (i), (ii) and (iv) 

2. Which of the following statements is/are correct about the Mughal Architecture? 

 (i) Shajahan founded the fort complex at Fatehpur Sikri. 

 (ii) The lofty gateway to the Red Fort is known as Buland Darwaza. 

 (iii) Moti Masjid in Delhi was built by Jahangir. 

(A)  All the above (B) Only (i) and (ii) 

(C)  Only (i) and (iii) (D) None of the above 

3. Which of the following provisions is/are not part of the Indian Independence Act, 1947? 

 (i) The Indian Independence Act of 1947 was based on the Mountbatten Plan. 

 (ii) The Act declared India an independent and sovereign state from August 15, 1947 

 (iii) The Act instituted the office of Governor General, who was to be appointed by the 
British King. 

 (iv) The Act insisted that the Indian Princely states join the Dominion of India. 

(A)  Only (i) (B) Only (iii) 

(C)  Only (iv) (D) Only (i), (iii) and (iv) 

4. Which among the following were the important leaders of the Vaikom Satyagraha? 

 (i) T.K. Madhavan 

 (ii) K.P. Kesava Menon 

 (iii) Mannathu Padmanabhan 

 (iv) Changanacherry Parameshwaran Pillai 

 (v) C.V. Kunjiraman 

(A)  Only (i), (ii) and (iii) (B) Only (i), (ii), (iv) and (v) 

(C)  Only (i), (iii), (iv) and (v) (D) All the above 
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1. üđėċ ėíđ÷ĔtĒćĒkĔn ďÝĄČšĊĒŔ èėüĉīđąđĻ čēü ĆĔdČĔąđĆĒ 
ănėpŨĒćĒkĔnļ? 

(i) íŖĕăŒ ąĒęďŔ ŗāüĒďnĒ 
(ii) Ęāŕ Đđœăœ àŗíąûÝ 
(iii) ČĒĆƃĝĀđÝ ĆĔdÝ 
(iv) ĀđĘƃđĆĔė÷ ćĕāēíćûÝ 
(v) ąŖĕûĒĭ ďĘmĊĀÝ 

(A) (i), (iii), (iv) ąđŗüÝ (B) (i), (ii), (v) ąđŗüÝ 
(C) (i), (iii), (v) ąđŗüÝ (D) (i), (ii), (iv) ąđŗüÝ  

2. ąĔïŕ ČđŏüĔČĒþŖėĆkĔĈĒcƧll üđėċ āĈĆĔn ŗāŏüđČĀíĊĒŔ èüđĻ 
čćĒ? 
(i) ĂĘtāĕœ ďĒŗíĒĆĒŔ ĘíđŨ ďąĔcĆÝ sđāĒcļ ĎđôĐđĀđĻ  

(ii) ėòĘŠđŨĆĒĘĉkĔll uĆœn íČđ÷Ý ăĔĉnĝ þœČđď enĈĒĆėp÷ĔnĔ 
(iii) ùŔĐĒĆĒėĉ ĘąđtĒ ąŏôĒľ ĀĒœmĒcļ ôĐđÝïēœ àĻ 

(A) eĉīđÝ čćĒĆđĻ  
(B) (i), (ii) ąđŗüÝ čćĒĆđĻ 
(C) (i), (iii) ąđŗüÝ čćĒĆđĻ 
(D) ünĒćĒkĔnČĆĒŔ onĔÝ čćĒĆĉī 

3. üđėċ āĈĆĔnČĆĒŔ èüđĻ 1947-ėĉ inŖŒ ďřđüŗnŖ ĀĒĆątĒėn 
Ąđïąĉīđtļ?  

(i) ąĞŪĝ ăđƃő ādüĒĆĔė÷ a÷ĒsđĀtĒĉđĻ 1947-ėĉ inŖŒ 
ďřđüŗnŖ ĀĒĆąÝ āđsđkĒĆļ 

(ii) 1947 ëïsĝ 15  ąĔüŔ inŖėĆ ďřüŗnČĔÝ āćąđÿĒíđćČĔąđĆ oćĔ 
ćđôŖąđĆĒ ŗāîŖđāĒc ĀĒĆąąđûĒļ 

(iii) ŗăĒŨēŎ ćđôđŌ ĀĒĆąĒĘkŪ ïČœŬœ ôĀĈĉĒėn ëĂēŏ â ĀĒĆąÝ 
sđāĒcƧ 

(iv) inŖŒ ĀđŨƧćđôŖšŕ inŖŒ ėùđąĒĀĒĆĀĒŔ Ęòćûėąnĝ â ĀĒĆąÝ 
ĀĒœănĒcƧ 
(A) (i) ąđŗüÝ (B) (iii) ąđŗüÝ 
(C) (iv) ąđŗüÝ (D) (i), (iii), (iv) ąđŗüÝ 

4. üđėċpĈĆĔnČćĒŔ àėćđėkĆđĆĒćĔnĔ ęČkÝ ďüŖđŗïĐtĒėĉ  
ŗāÿđĀ ĘĀüđkŕ? 

(i) ÷Ē.ėí. ąđÿČŒ 
(ii) ėí.āĒ. ĘíčČ ĘąĘĀđŒ 
(iii) ąntĔ ātĀđĄŒ 
(iv) òšĀđĘƇćĒ āćĘąčřćŒ āĒll 
(v)  ďĒ.ČĒ. íĔŧĒćđąŒ 

(A)  (i), (ii), (iii) ąđŗüÝ (B) (i), (ii), (iv), (v) ąđŗüÝ 

(C)  (i), (iii), (iv), (v) ąđŗüÝ (D) ąĔíĊĒŔ āĈŧČėćĉīđÝ 
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5. Which of these statements on the Russian Revolution is/are true? 

 (i) The ‘Soviet’ was a body of workers’ representatives set upto conduct strikes. 

 (ii) The final goal of the Bolsheviks was not the establishment of socialism but the 
establishment of a republic. 

 (iii) The first act of the Lenin government was the adoption of the Decree on Peace by 
which Russia withdrew from the First World War at the cost of losing many of her 
territories. 

 (iv) The Romanovs were the only dynasty to fall during the First World War. 

(A)  Only (i) and (ii) (B) Only (i) and (iii) 

(C)  Only (i) and (iv) (D) None of the above 

6. Which of these statements about the literary sources on Kerala History is not true? 

 (i) Tuhfat-ul-Mujahideen, authored by Sheikh Zainuddin, deals with the Political 
history of the Portuguese Period. 

 (ii) Kautilya’s Arthasastra is the earliest Sanskrit work which contains a reference  
to Kerala. 

 (iii) The Guruvayur Temple records prove that Tipu Sultan ordered an annual grant to 
the temple for the conduct of daily pujas. 

 (iv) Marco Polo and Nicolo Conti were Spanish Travelers who visited Quilon during the  
14th century. 

(A)  Only (i) and (iii) (B) Only (ii) and (iv) 

(C)  Only (i) and (iv) (D) Only (ii) and (iii) 

7. Which of the following statements about the Non-Cooperation Movement is/are correct? 

 (i) The Non-Cooperation movement was started by Gandhi on 1st August 1920. 

 (ii) Removal of untouchability among the Hindus and promotion of Hindu-Muslim 
unity were part of the programs. 

 (iii) The goal of the Non-Cooperation movement was the attainment of self-government 
through any means. 

 (iv) The Chauri Chaura incident led to the suspension of the Non-Cooperation 
Movement. 

(A)  Only (i), (ii) and (iv) (B) Only (ii), (iii) and (iv) 

(C)  Only (i), (iii) and (iv) (D) All the above 
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5. ĈĎŖŒ ČĒpČėtkĔĈĒcƧll â ŗāŏüđČĀíĊĒŔ èėüđėkĆđĻ čćĒ? 

(i) āûĒąĔ÷kĔíŕ Ā÷tđŒ ćĕāēíćĒc ėüđċĒĉđĊĒ ŗāüĒĀĒÿĒíĊƧė÷ oćĔ 
ďÝðąđĆĒćĔnĔ ‘ĘďđČĒĆƃĝ’ 

(ii) ĘăđŕėĎČĒkĔíĊƧė÷ anĒą ĉkŖÝ ĘďđĎŖĉĒďÝ sđāĒkĔí 
enüĉī, ąĈĒcĝ oćĔ ĈĒpbĒĭ sđāĒkĔí enüđĆĒćĔnĔ 

(iii) ėĉĀĒŒ ďœkđćĒėn àþŖ ŗāČĖtĒ ďąđÿđĀ utćŌ 
aÝïēíćĒcüđĆĒćĔnĔ. aüĒĉĕė÷ ĈĎŖ onđÝ ĘĉđíąĐđĆĔdtĒŔ 
ĀĒnĝ āĒnđĈĒ, ĈĎŖkĝ āĉ ŗāĘþčšĊƧÝ ĀƈėpŨƧ 

(iv) onđÝ ĘĉđíąĐđĆĔdďąĆtĝ ČēûĔĘāđĆ oĘćėĆđćĔ ćđôČÝč 
ąđĆĒćĔnĔ ĘĈđąĘĀđŌ ćđôČÝčÝ 

(A)  (i), (ii) ąđŗüÝ  
(B) (i), (iii) ąđŗüÝ 
(C)  (i), (iv) ąđŗüÝ  
(D) ünĒćĒkĔnČĆĒŔ onĔÝ čćĒĆĉī 

6. ĘíćĊ òćĒŗüėtkĔĈĒcƧll ĘŗďđüsƧíėĊkĔĈĒcƧll â ŗāŏüđČĀíĊĒŔ 
èüđĻ čćĒĆĉīđtļ? 

(i) ėĎņĮ ęďĀĔdēŒ ćòĒc üĔŐĂtĕŔ ąĔôđĐĒþēŒ ĘāđœcƧïēŏ 
íđĉðŨtĒėĉ ćđŗƈēĆ òćĒŗüąđĻ ęííđćŖÝ ėòyƧnļ 

(ii) ĘíćĊėtkĔĈĒcƧll āćđąœčÝ uŕėkđllƧn àþŖ ďÝŏíĖü 
íĖüĒĆđĻ íĞ÷ĒĉŖėn aœtčđŏŗüÝ 

(iii) ïĔćĔČđĆĕœ ĘkŗütĒŔ þĒČĘďĀĆĔll āĕôíŕ Ā÷tĔnüĒĀđĆĒ ÷ĒpƧ 
ďĔŔtđŒ ČđœĎĒí ŗïđnĝ aĀĔČþĒcüđĆĒ ĘkŗüĘćîíŕ 
ėüĊĒĆĒkĔnĔ 

(iv) āüĒĀđĉđÝ ĀĕƃđŪĒŔ ėíđĉīÝ ďnœčĒc ŏāđĀĒŎ ďŦđćĒ 
íĊđĆĒćĔnĔ ąđœĘkđĘāđĘĊđĆĔÝ ĀĒĘkđĘĊđ ĘíđŪĒĆĔÝ 

(A) (i), (iii) ąđŗüÝ (B) (ii), (iv) ąđŗüÝ 
(C) (i), (iv) ąđŗüÝ (D) (ii), (iii) ąđŗüÝ 

7. ĀĒsĐíćû ŗāsđĀėtkĔĈĒcƧll üđėċ āĈĆĔn  ŗāŏüđČĀíĊĒŔ 
èüđĻ čćĒ? 

(i)  1920 ëïsĝ 1 ŀ ïđnĒôĒ ĀĒsĐíćû ŗāsđĀÝ àćÝĄĒcƧ 

(ii) ĐĒnĔkŕkĒ÷ĆĒėĉ ėüđŨƧíĕ÷đņą ĀēkÝ ėòyĉĔÝ ĐĒnĔ-ąĔsēÝ 
éíŖÝ ĘŗāđtđĐĒpĒkĉĔÝ āćĒāđ÷ĒíĊƧė÷ ĄđïąđĆĒćĔnĔ 

(iii) èüĔ ČĒĘÿĀĆĔÝ ďřĆÝĄćûÝ ĘĀ÷ĒėĆ÷ĔkĔí enüđĆĒćĔnĔ 
ĀĒsĐíćû ŗāsđĀtĒėn ĉkŖÝ 

(iv) òĞćĒ òĞć ďÝĄČÝ ĀĒsĐíćû ŗāsđĀÝ ĀĒœtĒČņkĔnüĒĘĉkĝ 
ĀĆĒcƧ 
(A)  (i), (ii), (iv) ąđŗüÝ (B) (ii), (iii), (iv) ąđŗüÝ 

(C) (i), (iii), (iv) ąđŗüÝ (D) ąĔíĊĒŔ āĈŧČėĆĉīđÝ 
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8. Which among the following is/are the aim of the UNO? 

 (i) To maintain international peace and security. 

 (ii) To develop friendly relations among nations. 

 (iii) To achieve international cooperation in solving international problems. 

 (iv) Promoting respect for human rights and fundamental freedoms. 

(A)  Only (i), (ii) and (iii)  

(B) Only (ii), (iii) and (iv) 

(C)  Only (i), (iii) and (iv)  

(D) All the above 

9. Which of the following statements about the Socio-religious Reform Movement in Kerala 
is incorrect? 

(A) The SNDP Yogam was formed in 1903 under the auspices of Sree Narayana 
Guru. 

(B) The Sadhujana Paripalana Sabha was founded by Dr. Palpu in 1905. 

(C) The Yoga Kshema Sabha was founded in 1908. 

(D) The NSS was founded in 1914 by Mannathu Padmanabhan 

10. Which of the following was/were the result of the Revolt of 1857? 

 (i) The British Parliament passed the Better Government of India Act. 

 (ii) The rule of the East India Company ended, and India was taken over by the 
British Crown. 

 (iii) The office of the Secretary of State for India was created. 

 (iv) Communal representation and diarchy were introduced. 

(A)  Only (i), (ii) and (iv)  

(B) Only (ii), (iii) and (iv) 

(C)  Only (i), (ii) and (iii)  

(D) All the above 
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8. üđėċ āĈĆĔnČĆĒŔ èüđĻ éíŖćđŗƈďĄĆĔė÷ ĉkŖÝ? 

(i) anđćđŗƈ ďąđÿđĀČĔÝ ďĔćkĆĔÝ ĀĒĉĀĒœtĔí  

(ii) ćđŗƈšŕkĒ÷ĆĒŔ ďĞĐĖþănÝ ČĊœtĒėĆ÷ĔkĔí 

(iii) anđćđŗƈ ŗāōĀšŕ āćĒĐćĒkĔnüĒŔ anđćđŗƈ ďĐíćûÝ 
uĈpƧ ČćĔtĔí 

(iv) ąĀĔĎŖđČíđčšĘĊđ÷ĔÝ ąĞĉĒí ďřđüŗnŖšĊƧÝ ĘŗāđtđĐĒpĒkĔí 

(A) (i), (ii), (iii) ąđŗüÝ  

(B) (ii), (iii), (iv) ąđŗüÝ 

(C) (i), (iii), (iv) ąđŗüÝ  

(D) ąĔíĊĒŔ āĈŧČėĆĉīđÝ 

9. ĘíćĊtĒėĉ ďđąĕĐĒí-ąü ĀČēíćû ŗāsđĀėtkĔĈĒcƧll iĀĒpĈĆĔn 
ŗāŏüđČĀíĊĒŔ èüđĻ ėüƃĝ? 

(A) 1903-Ŕ  ŗčēĀđćđĆû ïĔćĔČĒėn àĄĒąĔîŖtĒŔ eŏeŒùĒāĒ 
ĘĆđïÝ ćĕāēíćĒcƧ 

(B) 1905-Ŕ  Ęùđ. āŔāĔ àĻ ďđÿĔôĀāćĒāđĉĀ ďĄ sđāĒcļ 

(C)  1908-Ŕ ĘĆđï Ęką ďĄ sđāĒüąđĆĒ 

(D) 1914-Ŕ ąntĔ ātĀđĄĀđĻ eŒeŏeŏ sđāĒcļ 

10. üđėċpĈĆĔnČĆĒŔ èüđĻ 1857-ėĉ íĉđātĒėn ĂĉąđĆĒ uŪđĆļ? 

(i) ŗăĒŨēŎ āđœĉėąnĝ ėăƃœ ïČėŭnĝ ëł inŖ àĭķ āđsđkĒ 

(ii) âsĝ inŖđ ímĀĒĆĔė÷ ĄćûÝ aČďđĀĒcƧ, inŖ ŗăĒŨēŎ ćđjĒ 
èėƃ÷ĔtĔ 

(iii)  inŖĆĔė÷ ėďŗíŨĈĒ ëł Ęsƃĝ en ëĂēŏ ďĖƈĒkėpŨƧ 

(iv) ďđąĔþđĆĒí ŗāđüĒĀĒÿŖČĔÝ ùĆđœkĒĆĔÝ ĀĒĉČĒŔ ČnĔ 

(A) (i), (ii), (iv) ąđŗüÝ  

(B) (ii), (iii), (iv) ąđŗüÝ 

(C) (i), (ii), (iii) ąđŗüÝ  

(D) ąĔíĊĒŔ āĈŧČėĆĉīđÝ 
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11. Which of the following statements best describes a critical limitation of topographic 

maps in large-scale disaster management planning? 

(A)  They provide precise elevation details but may not account for real-time 

changes in terrain due to natural disasters. 

(B) They use standardized contour lines for elevation representation, making 

them unsuitable for differentiating between urban and rural landscapes. 

(C)  Topographic maps offer extensive information on hydrological features but 

fail to include data on man-made infrastructure. 

(D) Since topographic maps are designed for static landform analysis, they cannot 

be used for infrastructure planning in urban environments. 

12. Which of the following scenarios best illustrates the interplay between climate and 

geomorphic processes in shaping a landscape over geological timescales? 

(A)  A humid tropical region where rapid fluvial erosion dominates despite the 

absence of significant weathering. 

(B) A periglacial region where repeated freeze-thaw cycles contribute to mass 

wasting and patterned ground formation. 

(C)  A desert environment where chemical weathering outpaces mechanical 

weathering due to high temperatures and arid conditions. 

(D) A coastal region experiencing continuous deposition despite rising sea levels 

and increased storm activity. 
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11. üđėċ āĈĆĔn ŗāŏüđČĀíĊĒŔ èüđĻ ČĉĒĆ ĘüđüĒĉĔll þĔćn 
ĀĒČđćû àďĕŗüûtĒŔ Ę÷đĘpđŗïđĂĒĭ ąđpƧíĊƧė÷ oćĔ ŗāÿđĀ 
āćĒąĒüĒėĆ èƃČĔÝ ĀnđĆĒ ČĒČćĒkĔnļ? 

(A) aČ íĖüŖąđĆ uĆćtĒėn ČĒčþđÝčšŕ ĀŔíĔnĔ. enđŔ 
ŗāíĖüĒ þĔćnšŕ íđćûÝ ĄĕŗāĘþčtĔŪđíĔn ütąĆ 
ąđƃšŕ íûkĒėĉ÷ĔkđŒ aČņkĝ íċĒĘŧkĒĉī 

(B) aČ uĆćÝ òĒŗüēíćĒkĔnüĒŀ sđŒĘùœĹ ĘíđŪĕœ ęĉĀĔíŕ 
uāĘĆđïĒkĔnĔ. iļ Āïć, ŗïđąēû ĄĕŗāíĖüĒíėĊ 
ĘČœüĒćĒcĈĒĆđŒ aĀĔĘĆđôŖąĉīđüđkĔnĔ 

(C)  Ę÷đĘpđŗïđĂĒĭ ąđpƧíŕ ôĉčđŏŗüāćąđĆ ďČĒĘčĎü 
íėĊkĔĈĒcĝ  ČĒāĔĉąđĆ ČĒČćšŕ ĀŔíĔnĔ. enđŔ 
ąĀĔĎŖĀĒœmĒü a÷ĒsđĀ ďĞíćŖšėĊkĔĈĒcƧll ČĒČćšŕ 
uŕėp÷ĔtĔnüĒŔ āćđôĆėp÷ĔnĔ 

(D)  Ę÷đĘpđŗïđĂĒĭ ąđpƧíŕ sĒćąđĆ ĄĕŗāĘþč ČĒčíĉĀtĒĀđĆĒ 
ćĕāíŔpĀ ėòņüĒŨƧllüĒĀđŔ ĀïćŗāĘþčšĊĒėĉ a÷ĒsđĀ 
ďĞíćŖ àďĕŗüûtĒŀ aČ uāĘĆđïĒkđŒ íċĒĆĒĉī  

12. ĄĕąĒčđŏŗüāćąđĆ ďąĆāćĒÿĒkĔllĒŔ oćĔ ĄĕŗāĘþčėt 

ćĕāėp÷ĔtĔnüĒŔ íđĉđČsĆĔÝ Ąĕćĕāēíćû ŗāŗíĒĆíĊƧÝ (geomorphic 

processes) ümĒĉĔll āćŏāćănÝ èƃČĔÝ ĀnđĆĒ ČŖkąđkĔn 
ďđĐòćŖÝ üđėċ āĈĆĔnČĆĒŔ èüđĻ? 

(A) íđćŖąđĆ aākĆÝ (weathering) iĉīđüĒćĔnĒŨƧÝ, ĘČïtĒĉĔll 

ĀþēôĀŖ ąėŬđĉĒpĝ (fluvial erosion) ŗāăĉąđĆ, âœpąĔll 
uŎûĘąîĉđ ŗāĘþčÝ 

(B) oćĔ ėāćĒĘgĎŖŔ (periglacial) ŗāĘþčÝ, aČĒė÷ àČœtĒcƧll 

üûĔtĔĈĆĉĔÝ ućĔíĉĔÝ (freeze-thaw cycles)  ČŏüĔkĊƧė÷ 

sđĀòĉĀtĒĀĔÝ (mass wasting) ŗíąēíĖü Ąĕüĉ ćĕāēíćûtĒĀĔÝ 

(patterned ground formation) íđćûąđíĔnĔ.   
(C)  uĆœn üđāĀĒĉĆĔÝ ČćŪ ďđĐòćŖšĊƧÝ íđćûÝ ćđďāćąđĆ 

aākĆÝ (Chemical weathering) ĄĞüĒí aākĆėt (Mechanical 

weathering) ąĈĒí÷kĔn oćĔ ąćĔĄĕąĒ āćĒsĒüĒ 
(D) ďąĔŗþ ĀĒćpĝ uĆćĔíĆĔÝ ėíđ÷ĔŠđƃĝ ŗāČœtĀÝ  ČœdĒkĔíĆĔÝ  

ėòņüĒŨƧÝ üĔ÷œcĆđĆ ĀĒĘkāÝ (deposition) aĀĔĄČėp÷Ĕn oćĔ 
üēćŗāĘþčÝ 
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13. Which of the following statements best explains how India’s geographical features 

influence the monsoon climate? 

(A)  The Himalayas act as a barrier that prevents the southwest monsoon winds 

from escaping northward, forcing them to shed moisture over the 

subcontinent, while the Deccan Plateau has no role in monsoon distribution. 

(B)  The Western Ghats, Eastern Ghats, Himalayas and the Deccan Plateau 

together influence monsoon rainfall patterns through orographic effects, wind 

deflection and rain shadow formation, creating regional variations in 

monsoon intensity. 

(C)  India’s peninsular shape has minimal influence on the monsoon, as the winds 

are primarily controlled by global factors such as the El Niño-Southern 

Oscillation (ENSO) and the Intertropical Convergence Zone (ITCZ). 

(D) The Thar Desert enhances monsoon strength by creating a high-pressure 

system that attracts moisture-laden winds, ensuring uniform rainfall across 

all parts of India. 

14. Which of the following best explains the complex interplay of factors influencing the 

variability and intensity of the Indian monsoon? 

(A)  The Indian monsoon is solely driven by the temperature contrast between 

land and sea, with no impact from global climatic phenomena. 

(B) The shifting Intertropical Convergence Zone (ITCZ), along with factors like 

jet streams, orographic effects, and ENSO events, governs the seasonal 

strength and distribution of monsoon rainfall. 

(C)  The southwest and northeast monsoons are independent systems with no 

interconnection, operating purely based on regional wind patterns. 

(D) Orographic barriers like the Western Ghats and the Himalayas only intensify 

monsoon rainfall, without contributing to dry spells or regional disparities. 
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13. ĄđćütĒėn ĄĕąĒčđŏŗüđtí ďČĒĘčĎüíŕ ąőďĕő íđĉđČsėĆ 
ešėĀ ďřđÿēĀĒkĔnĔ enüĒėĀ èƃČĔÝ Āĉī ćēüĒĆĒŔ ČĒčþēíćĒkĔnļ 
èļ ŗāŏüđČĀĆđĻ? 

(A) ĐĒąđĉĆšŕ ėükĝ-ā÷ĒŧđĈŒ ąőďĕő íđƃƧíŕ Č÷ĘkđŨĝ 
í÷nĔĘāđíĔnļ ü÷ŧĝ aČėĆ  ĀþēüēćŗāĘþčšĊĒŔ ČĖƈĒ 
ėòyđŒ ĘŗāćĒpĒkĔnĔ. enđŔ ėùkđŒ āēøĄĕąĒkĝ ąőďĕő 
ČĒüćûÝ ėòyƧnüĒŔ ĆđėüđćĔ āŠĔąĒĉī 

(B) ā÷ĒŧđĈŒ ðŨšŕ, íĒċkŒ ðŨšŕ, ĐĒąđĉĆšŕ, ėùkđŒ 
āēøĄĕąĒ enĒČ oćĔąĒcƧ íĕ÷ĒĆĔll  ëĘĈđŗïđĂĒkĝ Ăĉšŕ, 
íđƃĒėn ČċĒüĒćĒŌ, ąċ ĀĒċŔ Ęąîĉ enĒČ ČċĒ ąőďĕő 
ąċĆĔė÷ ā÷œpĒėĀ ďřđÿēĀĒkĔnĔ. iļ ŗāđĘþčĒí ČŖüŖđďšŕ 
ďĖƈĒkĔnĔ 

(C)  ĄđćütĒėn  aœdþřēŁ àíĖüĒkĝ ąőďĕûĒėĀ  ĘĀćėt 
ďřđÿēĀĒkđĀđíĒĉī, íđćûÝ ąőďĕő íđƃƧíŕ ŗāÿđĀąđĆĔÝ 
eŔ ĀĒĘĀđ-þkĒû ĘþčđîĉĀÝ (ENSO) anœĘŗ÷đpĒkŔ 
ĘíđőČœôŒŏ Ęďđő (ITCZ) enĒČ ĘāđĉĔll àĘïđĊ 
ð÷íšŕ ĀĒĆŗnĒkĔnĔ 

(D) üđœ ąćĔĄĕąĒ oćĔ uĆœn ąœd Ęąîĉ ďĖƈĒcĝ âœpąĔll 
íđƃƧíŕ àíœĎĒkĔíĆĔÝ eĉīđ ĄđïšĊĒĉĔÝ oĘć ćēüĒĆĒĉĔll 
ąċ ĉĄŖąđíĔnüĒĀĔÝ ďĐđĆĒkĔnĔ 

14. ĄđćüēĆ ąőďĕûĒėn üēŗČüĆĔÝ ČŖüŖđďČĔėąnđĻ ĀĒœŬĆĒkĔnļ? 
üđėċpĈĆĔnČĆĒŔ èüđĻ èƃČĔÝ uòĒüąđĆ ČĒčþēíćûÝ?  

(A) ĄđćüēĆ ąőďĕő ďąĔŗþtĒĉĔÝ íćĆĒĉĔÝ ull üđāĀĒĉ 
ČŖüŖđďtđŔ ąđŗüąđĻ ĀĒĆŗnĒkėp÷Ĕnļ, àĘïđĊ 
íđĉđČsđ ďÝĄČšŕ iüĒŔ ăđÿėòyƧnĒĉī 

(B) anœĘŗ÷đpĒkŔ ĘíđőČœôŒŏ Ęďđő (ITCZ) enüĒėn 
sđĀąđƃÝ, ėôƃĝ ŏŗ÷ēÝ, ĄĞąčđŏŗü ŗāüĒðđüšŕ 
(oĘĈđŗïĂĒĭ eĂĭƃĝ), ENSO ďÝĄČšŕ (eŔ ĀĒĘĀđ, ĉđ 
ĀĒĀđ) enĒČĆĔė÷ ďÝĆĔk ďřđÿēĀąđĻ ĄđćüēĆ 
ąőďĕő ćĕāėp÷ĔtĔnļ 

(C)  ėükĔā÷ĒŧđĈŒ ąőďĕûĔÝ Č÷kĔíĒċkŒ ąőďĕûĔÝ 
āćŏāćÝ ănąĒĉīđt ČŖüŖŏüąđĆ ŗāüĒĄđďšĊđĻ, aČ 
ŗāđĘþčĒí íđƃĝ ďĒstĒĀĀĔďćĒcĝ ąđŗüĘą ŗāČœtĒkĕ 

(D) āƆĒąðŨČĔÝ ĐĒąđĉĆšĊƧÝ ąċĆĔė÷ üēŗČü ČœdĒpĒkĔn oćĔ 
íđćûąđŗüąđĻ, iČ ĘČĀŔkđĉ ČćŕcņĘkđ ŗāđĘþčĒí 
ČŖüŖđďšŕĘkđ íđćûąđíĒĉī 
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15. Which of the following statements best explains the multifaceted impact of the Palakkad 

Gap on regional climate and human activities? 

(A) It prevents the penetration of the southwest monsoon winds into Tamil Nadu, 

leading to arid conditions in the region.  

(B) It serves as a biodiversity barrier, limiting the movement of flora and fauna 

between the Western Ghats and the Deccan Plateau. 

(C)  It acts as a climatic gateway, allowing moisture-laden winds to influence 

rainfall patterns while also shaping economic and historical connectivity. 

(D) It is primarily significant for transportation, with minimal influence on 

climate and biodiversity in the Western Ghats. 

16. Which one of the following concept is also known as National Income? 

(A)  Gross Domestic Product (GDP) 

(B) Gross National Product (GNP) 

(C)  Net National Product (NNP) at Factor Cost 

(D) Personal Income (PI) 

17. Which Five-Year Plan aimed at achieving ‘Garibi Hatao’ (Eradication of Poverty)? 

(A) Third Five-Year Plan  

(B) Fourth Five-Year Plan 

(C)  Sixth Five-Year Plan  

(D) Fifth Five-Year Plan 
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15. āđĉkđķ òĔćtĒėn ŗāđĘþčĒí íđĉđČsĆĒĉĔÝ ąĀĔĎŖ 

ŗāČœtĀšĊĒĉĔÝ ull ČĒāĔĉąđĆ ďřđÿēĀÝ èƃČĔÝ uòĒüąđĆĒ 

ČĒčþēíćĒkĔnļ üđėċ āĈĆĔnČĆĒŔ èüđĻ? 

(A) iļ ėükĔā÷ĒŧđĈŒ ąőďĕő íđƃƧíŕ üąĒŋĀđŨĒĘĉkĔ 

ŗāĘČčĒkĔnļ ü÷ĆĔnĔ, aüĒĀđŔ aČĒ÷Ý ČćŪ ŗāĘþčąđĆĒ 

ąđĈĔnĔ 

(B) iļ ęôČęČČĒÿŖtĒŀ oćĔ ü÷ďąđĆĒ ŗāČœtĒkĔnĔ. 

āƆĒąðŨėtĆĔÝ ùkđŒ āēøĄĕąĒėĆĆĔÝ ümĒŔ ĘČþĒcƧ 

āĈkĔn ďďŖôđĉtĒŒ ėĈĆĔÝ ôēČôđĉtĒėnĆĔÝ ŗāòđćûÝ 

ĀĒĆŗnĒkĔnĔ 

(C) iļ íđĉđČsđ ĘïƃƧĘČĆđĆĒ ŗāČœtĒkĔnĔ. âœpąĔll 

íđƃƧíŕ ąċ ČĒüćûėt ďřđÿĒĀĒkđĀĔÝ, aĘüđė÷đpÝ 

ďđmtĒíČĔÝ òćĒŗüāćČĔąđĆ ănšŕ ćĕāėp÷ĔtđĀĔÝ 

ďĐđĆĒkĔnĔ 

(D) iüĒėn ŗāÿđĀ ŗāďkĒ ïüđïüČĔąđĆĒ ănėpŨüđĻ, 

íđĉđČsĆĒĘĉđ ęôČęČČĒÿŖtĒĘĉđ aŗü ŗāÿđĀ ďřđÿēĀÝ 

iĉī 

16. üđėċpĈĆĔnČĆĒŔ èüđĻ ĘþčēĆ ČćĔąđĀÝ enĈĒĆėp÷Ĕnļ? 

(A) ėąđt àĄŖnć uŔpnÝ (GDP) 

(B) ėąđt ĘþčēĆ uŔpnÝ (GNP) 

(C)  ð÷íąĕĉŖtĒŔ aƃ ĘþčēĆ uŔpnÝ (NNP at factor cost) 

(D) ČŖkĒïü ČćĔąđĀÝ (Personal Income) 

17. èļ āŦČtć ādüĒĆđĻ ‘ïćĒăĒ Đ÷đĘČđ’ (þđćĒŗþŖ ĀĒœmđœôĀÝ) 

ĉkŖąĒŨļ? 

(A) ąĕnđąėt āŦČtć ādüĒ 

(B) Āđĉđąėt āŦČtć ādüĒ 

(C)  àĈđąėt āŦČtć ādüĒ 

(D) aŦđąėt āŦČtć ādüĒ 



 

 

056/2025-M 

A -14-

18. Which of the following statements is true about the composition of NITI Aayog? 

 (i) The Prime Minister of India is the Chairman of NITI Aayog. 

 (ii) NITI Aayog has a fixed five-year tenure like the Planning Commission. 

 (iii) The governing body of NITI Aayog includes the Chief Ministers of all states. 

 (iv) NITI Aayog is an autonomous constitutional body. 

(A)  Only (i) (B) Only (i) and (iii) 

(C)  Only (i), (iii) and (iv) (D) Only (iii) and (iv) 

19. Identify the correct statement regarding tax and non-tax revenue: 

 (i) Tax revenue is collected from both individuals and businesses, while non-tax 
revenue is collected only from businesses. 

 (ii) Tax revenue is collected by imposing compulsory levies, while non-tax revenue 
comes from government services, fees and investments. 

 (iii) Both tax and non-tax revenue are compulsory payments to the government. 

 (iv) Non-tax revenue includes penalties and fines, but not interest receipts. 

(A)  Only (i)  

(B) Only (ii) 

(C)  Only (ii) and (iv)  

(D) Only (i), (ii) and (iv) 

20. Which of the following statements correctly differentiates Revenue Deficit and Fiscal 
Deficit? 

(A) Revenue deficit occurs when revenue receipts are less than revenue 

expenditure, whereas fiscal deficit represents the excess of total expenditure 

over total revenue, excluding borrowings. 

(B) Revenue deficit refers to the difference between total revenue and total 

expenditure, while fiscal deficit is only related to tax collections excluding 

public borrowings. 

(C)  Revenue deficit includes capital expenditures excluding borrowings, while 

fiscal deficit includes revenue and capital expenditures. 

(D) Revenue deficit is the difference between revenue receipts and revenue 

expenditure, whereas fiscal deficit represents the excess of total expenditure 

over total revenue, including borrowings. 
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18. ĀēüĒ àĘĆđïĒėn ð÷ĀėĆkĔĈĒcƧll ďüŖąđĆ ŗāŏüđČĀ 
èėüđėkĆđĻ? 
(i) ĄđćütĒėn ŗāÿđĀąŗnĒ ĀēüĒ àĘĆđïĒėn  ėòĆœąđĀđĻ 
(ii) pđĀĒÝį ímēĎėĀ Ęāđėĉ ĀēüĒ àĘĆđïĒĀĔÝ sĒćąđĆ aŦĝ 

ČœĎėt íđĉđČÿĒ uŪĝ 
(iii) ĀēüĒ àĘĆđïĒėn ĄćûďąĒüĒĆĒŔ eĉīđ ďÝsđĀšĊƧė÷ĆĔÝ 

ąĔîŖąŗnĒąđœ uŕėp÷ĔnĔ 
(iv) ĀēüĒ àĘĆđį oćĔ ďřĆÝĄćû Ąćûð÷Āđ sđāĀąđĻ 

(A)  (i) ąđŗüÝ (B) (i), (iii) ąđŗüÝ 

(C)  (i), (iii), (iv) ąđŗüÝ (D) (iii), (iv) ąđŗüÝ 

19. ĀĒíĔüĒ ČćĔąđĀČĔÝ ĀĒíĔüĒĘĆüć ČćĔąđĀČĔÝ ďÝănĒc čćĒĆđĆ 
ŗāŏüđČĀ èļ? 
(i) ĀĒíĔüĒ ČćĔąđĀÝ ČŖkĒíĊĒŔ ĀĒnĔÝ ăĒďĒĀsƧíĊĒŔ ĀĒnĔąđĻ 

â÷đkĔnļ, enđŔ ĀĒíĔüĒĘĆüć ČćĔąđĀÝ ăĒďĒĀsƧíĊĒŔ ĀĒnĝ 
ąđŗüąđĻ â÷đkĔnļ 

(ii) ĀĒíĔüĒ ČćĔąđĀÝ ďœkđœ ĀĒœănĒüąđĆĒ â÷đkĔn 
ĀĒíĔüĒíĊĒĉĕė÷ ĉĄĒkĔn ČćĔąđĀąđĻ,  aĘü ďąĆÝ ĀĒíĔüĒĘĆüć 
ČćĔąđĀÝ ďœkđœ ĘďČĀšŕ, Ăēŏ, ĀĒĘkāšŕ enĒČ ČċĒ 
ĉĄĒkĔnüđĻ 

(iii)  ĀĒíĔüĒ ČćĔąđĀČĔÝ ĀĒíĔüĒĘĆüć ČćĔąđĀČĔÝ ďœkđĈĒĘĉkĔll 
ĀĒœănĒü ĘāņėąnĝŏíĊđĻ 

(iv) ĀĒíĔüĒĘĆüć ČćĔąđĀtĒŔ āĒċíĊĒŔ ĀĒnĔÝ čĒkíĊĒŔ ĀĒnĔÝ 
íĒŨƧn ČćĔąđĀÝ uŕėp÷ĔnĔ. enđŔ āĉĒč ČćĔąđĀÝ uŕėp÷ĔnĒĉī 

(A) (i) ąđŗüÝ (B) (ii) ąđŗüÝ 

(C) (ii), (iv) ąđŗüÝ (D) (i), (ii), (iv) ąđŗüÝ 

20. ČćĔąđĀ ímĒĆĔÝ ÿĀkmĒĆĔÝ ümĒĉĔll ČŖüŖđďÝ čćĒĆđĆĒ 
ČŖkąđkĔn ŗāŏüđČĀ èļ? 

(A) ĈČĀŖĕímĒ uŪđíĔnļ ĈČĀŖĕ ČćĔąđĀÝ ĈČĀŖĕ 
òĒĉČĒĘĀkđŕ íĔĈČđíĔĘmđċđĻ. aĘüďąĆÝ ÿĀímĒ 
ŗāüĒĀĒÿēíćĒkĔnļ í÷ăđÿŖü íĕ÷đėüĆĔll àėíČćČĒŔ ĀĒnĝ 
aÿĒíąđĆĒ ČćĔn àėí òĒĉČđĻ. 

(B) ĈČĀŖĕímĒ àėí ČćĔąđĀtĒĀĔÝ àėí ėòĉČĒĀĔąĒ÷ĆĒĉĔll 
ČŖüŖđďąđĻ, aĘüďąĆÝ ÿĀímĒ ėāđüĔí÷Ý oċĒcƧll ĀĒíĔüĒ 
ČćČĔąđĆĒ ąđŗüÝ ănėpŨĒćĒkĔnĔ 

(C)  ČćĔąđĀímĒĆĒŔ í÷ăđdŖüĆĒĉīđt ąĕĉÿĀ ėòĉČĔíŕ 
uŕėp÷ĔnĔ. aĘüďąĆÝ ÿĀímĒĆĒŔ ĈČĀŖĕėòĉČĔíĊƧÝ ąĕĉÿĀ 
ėòĉČĔíĊƧÝ uŕėp÷ĔnĔ 

(D) ĈČĀŖĕímĒ enļ ĈČĀŖĕ òĒĉČĔÝ ĀĒnĔ ĈČĀŖĕ ČćĔąđĀČĔÝ 
ümĒĉĔll ČŖüŖđďąđĻ. aĘüďąĆÝ ÿĀímĒ enļ 
í÷ăđdŖüĘĆđ÷Ĕíĕ÷ĒĆ àėí ČćĔąđĀtĒŔĀĒnĔ aÿĒíąđĆĒ 
ČćĔn òĒĉČđĻ 
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21. The National e-Governance Plan (NeGP) is an initiative of the Government of India to 

make all government services available to the citizens of India via electronic media. 

NeGP was formulated by the following departments: 

 (i) Electronics and Information Technology 

 (ii) Department of Administrative Reforms and Public Grievances 

 (iii) Central e-Governance Department 

 (iv) Office of the Information Technology of India 

(A)  Only (i)  

(B) Only (i) and (ii) 

(C)  Only (iii)  

(D) All of the above 

22. Under section 24 of the Right to Information (RTI) Act, the Government of Kerala has 

exempted certain organizations from the Act’s purview. But the following circumstances 

they are responsible to provide the information : 

 (i) Policing 

 (ii) Corruption 

 (iii) Human Rights Violations 

 (iv) Honour Killings 

(A)  Only (i)  

(B) Only (ii) and (iii) 

(C)  Only (iii)  

(D) All of the above 
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21. eĉīđ ďœkđœ ĘďČĀšĊƧÝ iĉĭĘŗ÷đûĒĭ ąđÿŖąšŕ ČċĒ inŖĆĒėĉ 

āĞćnđœkĝ ĉĄŖąđkĔí en ĉkŖĘtđė÷ inŖđ ïČėŭnĝ àćÝĄĒc 

oćĔ ďÝćÝĄąđĻ ĀđĎûŔ i-ïĘČûŒŏ pđŒ (NeGP). üđėċpĈĆĔn èļ 

ČíĔpƧíĊđĻ ĀđĎûŔ i-ïĘČûŒŏ pđŒ (NeGP) ćĕāēíćĒcļ? 

(i) iĉĭĘŗ÷đûĒĭŏ àŒĹ iŒĂœĘąĎŒ ė÷ĭĘĀđĊôĒ 

(ii) Ąćû āćĒŎíđćšĊƧė÷ĆĔÝ ėāđüĔāćđüĒíĊƧė÷ĆĔÝ ČíĔpĝ 

(iii) Ęíŗn i-ïĘČûŒŏ ČíĔpĝ 

(iv) inŖŒ iŒĂœĘąĎŒ ė÷ĭĘĀđĊôĒ ëĂēŏ 

(A)  Only (i)  

(B) Only (i) & (ii) 

(C)  Only (iii)  

(D) All of the above 

22. ČĒČćđČíđč ĀĒĆątĒėĉ ėďkŒ 24 ŗāíđćÝ, ĘíćĊ ďœkđœ òĒĉ 

ďÝð÷ĀíėĊ ĀĒĆątĒėn āćĒÿĒĆĒŔ ĀĒnĝ oċĒČđkĒĆĒŨƧŪĝ. enđŔ 

üđėċpĈĆĔn ďđĐòćŖšĊĒŔ ČĒČćšŕ ĀŔíđŒ aČœ ăđÿŖsćđĻ 

(i) ĘāđĉēďĒÝį 

(ii) aċĒąüĒ 

(iii) ąĀĔĎŖđČíđč ĉÝðĀšŕ 

(iv) aĄĒąđĀėkđĉíŕ 

(A)  Only (i)  

(B) Only (ii) & (iii) 

(C)  Only (iii)  

(D) All of the above 
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23. Which of the following statements are/is true to Anti-Defection Law? 

 (i) Added to the Constitution in 1985 

 (ii) 52nd Amendment Act 

 (iii) Inserted in the 10th Schedule  

(A)  Only (i)  

(B) Only (i) and (ii) 

(C)  Only (iii)  

(D) All of the above 

24. The four basis of departmentalisation is popularly known as “4Ps”, they are 

 (i) Purpose 

 (ii) Promotion 

 (iii) Process 

 (iv) Persons and Place 

(A)  Only (i)  

(B) Only (iii) 

(C)  Only (i), (iii) and (iv)  

(D) All of the above 

25. The Human Rights Day 2024 theme is 

 (i) “Our Rights, Our Future, Right Now” 

 (ii) “Freedom, Equality and Justice for All” 

 (iii) “Dignity, Freedom and Justice for All” 

 (iv) “EQUALITY – Reducing inequalities, advancing human rights”  

(A)  Only (i)  

(B) Only (ii) 

(C)  Only (iii)  

(D) Only (iv) 
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23. üđėċ āĈĆĔn ŗāŏüđČĀíĊĒŔ èüđĻ íĕĈĔąđƃ ĀĒĘćđÿĀ ĀĒĆąČĔąđĆĒ 
ănėpŨĝ čćĒĆĔllļ? 

(i) 1985-Ŕ Ąćûð÷ĀĆĒŔ ĘòœtĔ  

(ii) 52-LP ĘĄþïüĒ ĀĒĆąÝ  

(iii) 10-LP ėĎùŖĕĊĒŔ uŕėp÷ĔtĒĆĒŨƧŪĝ 

(A)  Only (i)  

(B) Only (i) and (ii) 

(C)  Only (iii)  
(D) All of the above 

24. ČíĔpƧČŔkćûtĒėn Āđŉ a÷ĒsđĀšŕ ‘‘4Ps’’ enĈĒĆėp÷ĔnĔ. aČ 
èėüĉīđÝ?  

(i) uĘdčŖÝ 

(ii) sđĀkĆƃÝ 

(iii) ŗāŗíĒĆ 

(iv) ČŖkĒíĊƧÝ sĉČĔÝ 

(A)  Only (i)  

(B) Only (iii) 

(C)  Only (i), (iii) & (iv)  

(D) All of the above 

25. 2024-ėĉ ąĀĔĎŖđČíđč þĒĀtĒėn ŗāĘąĆÝ 

(i) ‘‘ĀmĔė÷ aČíđčšŕ, ĀmĔė÷ ĄđČĒ, iĘpđŕ’’ 

(ii) ‘‘eĉīđČœkĔÝ ďřđüŗnŖÝ, ďąüřÝ, ĀēüĒ’’ 

(iii) ‘‘eĉīđČœkĔÝ ansĝ, ďřđüŗnŖÝ, ĀēüĒ’’ 

(iv) ‘‘ďąüřÝ – aďąüřšŕ íĔĈņkŔ, ąĀĔĎŖđČíđčšŕ ąĔĘnđŨĝ 
ėíđŪĔĘāđíŔ’’ 

(A)  Only (i)  

(B) Only (ii) 

(C)  Only (iii)  

(D) Only (iv) 
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26. Identify the State/s where 73rd Amendment Act does not apply, normally 

 (i) Nagaland 

 (ii) Mizoram 

 (iii) Jammu and Kashmir  

 (iv) Meghalaya 

(A)  (i) and (ii)  

(B) (i), (ii) and (iv) 

(C) (ii) and (iii)  

(D) (i), (ii), (iii) and (iv) 

27. The Constitution of India was adopted and enacted and came into force on  

(A)  August 15, 1947/January 26, 1949 

(B) August 15, 1947/January 26, 1950 

(C)  November 26, 1949/January 26, 1950 

(D) November 26, 1949/November 26, 1950 

28. President’s rule can be imposed in a state on account of the failure of constitutional 
machinery under -  

(A) Article 352  

(B) Article 356 

(C)  Article 360  

(D) Article 368 

29. The amendment to Indian Constitution known as Mini Revision was 

(A)  24th Amendment  

(B) 25th Amendment 

(C)  42nd Amendment  

(D) 44th Amendment 

30. Article 17 of the Indian Constitution is related to 

(A) Abolition of Untouchability  

(B) Right to Equal Opportunity 

(C)  Abolition of Titles  

(D) Right against Exploitation 
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26. 73-LP ĘĄþïüĒ ĀĒĆąÝ ĘĀćĒŨĝ ăđÿíąĉīđt ďÝsđĀÝ/ďÝsđĀšŕ 
üĒćĒcĈĒĆĔí 

(i) Āđïđĉđnĝ 
(ii) ąĒĘďđĈÝ 
(iii) ômĔ & íđōąēœ 
(iv) ĘąðđĉĆ 

(A)  (i) & (ii) (B) (i), (ii) & (iv) 

(C) (ii) & (iii) (D) (i), (ii), (iii) & (iv) 

27. inŖŒ Ąćûð÷Ā aÝïēíćĒkėp÷ĔíĆĔÝ Ā÷pĒĉđkĔíĆĔÝ ėòņüļ 

(A) ëïsĝ 15, 1947/ôĀĔČćĒ 26, 1949 

(B) ëïsĝ 15, 1947/ôĀĔČćĒ 26, 1950 

(C) ĀČÝăœ 26, 1949/ôĀĔČćĒ 26, 1950 

(D) ĀČÝăœ 26, 1949/ĀČÝăœ 26, 1950 

28. Ąćûð÷Āđ ďÝČĒÿđĀtĒėn āćđôĆtĒėn ĘāćĒŔ oćĔ ďÝsđĀtĝ 
ćđŗƈāüĒ ĄćûÝ Ā÷pĒĉđkđĀĔll ČíĔpĝ 

  (A) àœŨĒkĒŕ 352  

  (B) àœŨĒkĒŕ 356 

  (C) àœŨĒkĒŕ 360  

  (D) àœŨĒkĒŕ 368 

29. inŖŒ Ąćûð÷ĀĆĒėĉ ąĒĀĒ ĈĒČĒĎŒ enĈĒĆėp÷Ĕn ĘĄþïüĒ 

(A) 24-LP ĘĄïïüĒ 

(B) 25-LP ĘĄïïüĒ 
(C) 42-LP ĘĄïïüĒ 
(D) 44-LP ĘĄïïüĒ 

30. inŖŒ Ąćûð÷ĀĆĔė÷ àœŨĒkĒŕ 17 üđėċ āĈĆĔnüĒŔ èüĔąđĆĒ 
ănėpŨĒćĒkĔnĔ? 

(A) ėüđŨƧíĕ÷đņą ĀĒœtĉđkŔ 

(B) üĔĉŖ aČďćtĒĀĔll aČíđčÝ 
(C)  āþČĒíŕ ĀĒœtĉđkŔ 

(D) òĕĎûtĒėĀüĒćđĆ aČíđčÝ 
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31. “Mattuvin chattangale swaya, mallengkil  

Mattumathukalee ningalethan” -  

These are the lines from which work of Kumaranasan? 

(A)  Duravastha (B) Karuna 

(C)  Chandalabhikshuki (D) Veenapoovu 

32. The place “Kadammanitta” is famous for which ritual art? 

(A)  Theyyam (B) Pooram 

(C)  Patayani (D) Garudanthookkam 

33. Who was the Renaissance leader who started the Community organization “Samathwa 

Samajam” in connection with the Kerala renaissance? 

(A)  Chattampi Swamikal (B) Vagbhatanandan 

(C)  Thykkaattu Ayyavu (D) Ayya Vykundta Swaamikal 

34. Sri. P.J. Antony was the first Malayalam film actor to win the National Award for Best 

Actor. Which is the film? 

(A)  Piravi (B) Ponthanmata 

(C)  Nirmalyam (D) Neythukaran 

35. Which contemporary Malayalam Novel features ‘Amba’ as the central character? 

(A)  Samudrashila (B) Ula 

(C)  Arachar (D) Ningal 

36. Where is the first Muslim Mosque in India, “Cheraman Juma Masjid”, located? 

(A)  Beemappalli (B) Kodungallur 

(C)  Malappuram (D) Calicut 

37. “Bhayakoutilya lobhangal 

Valarkkilloru naatine” - Which Malayalam daily newspaper has raised the slogan? 

(A)  Deshabhimani (B) Mathrubhoomi 

(C)  Kesari (D) Swadeshabhimani 
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31. ‘‘ąđƃƧČĒŒ òŨšėĊ ďřĆ-ąėĉīŠĒŔ 

ąđƃƧąüĔíĊē ĀĒšėĊtđŒ’’  

– íĔąđćĀđčđėn èļ íĖüĒĆĒėĉ ČćĒíĊđûĒļ? 
(A) þĔćČs (B) íćĔû 
(C)  òūđĉĄĒkĔíĒ (D) ČēûāĕŌ 

32. èļ aĀĔŎøđĀíĉĆĔąđĆĒ ănėpŨđĻ ‘‘í÷mĀĒŨ’’  en sĉÝ 
ŗāčŏüąđĆļ? 

(A) ėüyÝ (B) āĕćÝ 
(C)  ā÷ĆûĒ (D) ïćĔùŒüĕkÝ 

33. ĘíćĊĀĘČđtđĀČĔąđĆĒ ănėpŨĝ ‘‘ďąüřďąđôÝ’’ en ďđąĔþđĆĒí 
ďÝð÷Ā àćÝĄĒc ĀĘČđtđĀ ĀđĆíŒ àŇ?  

(A) òŨmĒ ďřđąĒíŕ 

(B) ČđįĄ÷đĀnŒ 
(C)  ęükđķ ayđČĔ 
(D) ayđ ęČíĔĻøďřđąĒíŕ 

34. ąĒíc Ā÷ĀĔll ĘþčēĆāĔćŏíđćÝ àþŖąđĆĒ ąĉĆđĊtĒŀ ĘĀ÷Ētnļ  
ŗčē. āĒ.ėô. ànûĒĆđĻ. ďĒĀĒą èļ? 

(A) āĒĈČĒ (B) ėāđnŒąđ÷ 
(C)  ĀĒœmđĉŖÝ (D) ėĀņtĔíđćŒ 

35. ‘aÝă’ ĘíŗníýđāđŗüąđĆĒ ČćĔn ďąíđĉēĀ ąĉĆđĊ ĘĀđČŔ èļ?  
(A) ďąĔŗþčĒĉ (B) uĉ  
(C)  àćđcđœ  (D) ĀĒšŕ 

36. inŖĆĒėĉ àþŖėt ąĔsēÝ āllĒĆđĆ ‘‘ĘòćąđŒ ôĕąđ ąŏôĒľ’’ 
sĒüĒėòyƧn sĉÝ èļ?   

(A) ăēąđāllĒ (B) ėíđ÷Ĕšĉīƨœ 
(C)  ąĉpƧĈÝ (D) ĘíđċĒĘkđķ 

37. ‘‘ĄĆėíĞ÷ĒĉŖĘĉđĄšŕ 

ČĊœkĒėĉīđćĔ Āđ÷ĒėĀ’’ en ąĔŗþđČđíŖÝ uĆœtĒpĒ÷Ēc ąĉĆđĊ þĒĀpŗüÝ 
èļ?  

(A) ĘþčđĄĒąđĀĒ (B) ąđüĖĄĕąĒ 
(C)  ĘíďćĒ (D) ďřĘþčđĄĒąđĀĒ 
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38. In which year the Olympic Oath was taken for first time? 

(A)  1920 (B) 1944 

(C)  1936 (D) 1928 

39. The term ‘Libero’ is associated with which game? 

(A) Basketball  

(B) Rugby 

(C)  Volleyball  

(D) Ice Hockey 

40. Which is the National game of Bangladesh? 

(A)  Cricket (B) Football 

(C)  Kho-Kho  (D) Kabaddi 

41. Which of the following is not a Spreadsheet Software? 

 (i) LibreOffice Calc 

 (ii) Microsoft Excel 

 (iii) Apple Numbers 

 (iv) Google Sheets 

(A)  Only (i) and (iii)  

(B) Only (ii) and (iv) 

(C) Only (i), (iii) and (iv)  

(D) None of the above 

42. The secondary storage device, namely, hard disk is a 

(A)  Magnetic Storage Device  

(B) Optical Storage Device 

(C)  Flash Memory Device  

(D) None of the above 
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38. oĊĒmĒĭŏ ďüŖŗāüĒj àþŖąđĆĒ Ā÷tĒĆ ČœĎÝ 

(A) 1920 (B) 1944 

(C)  1936 (D) 1928 

39. ‘‘ĉĒăĘĈđ’’ en āþÝ èļ íĊĒĆĔąđĆĒ ănėpŨĒćĒkĔnĔ? 

(A) ăđŏíƃĝĘăđŕ (B) ĈįăĒ 

(C) ĘČđĊĒĘăđŕ (D) éŏ ĘĐđkĒ 

40. ăÝgđĘþčĒėn ĘþčēĆ íĊĒ èļ? 

(A) ŗíĒkƃĝ (B) ĂĔķĘăđŕ 

(C)  Ęîđ-Ęîđ (D) íăùĒ 

41. üđėċ āĈĆĔnČĆĒŔ ŏėŗāĹĎēƃĝ aĉīđtČ èüđĻ? 

(i) ĉĒėŗă ëĂēŏ íđŔkĝ 

(ii) ęąĘŗíđĘďđłƃĝ eĭďŔ 

(iii) àpĒŕ ĀĘmŋŏ 

(iv) ïĕïĒŕ Ďēƃĝŏ 

(A)  (i) uÝ (iii) uÝ ąđŗüÝ  

(B) (ii) uÝ (iv) uÝ ąđŗüÝ 

(C) (i) uÝ (iii) uÝ  (iv) uÝ ąđŗüÝ  

(D) ąĔíĊĒŔ āĈĆĔnČ onĔÝ aĉī 

42. ĐđœĹ ùĒŏĭ en ėďknĈĒ ĘsđĘĈĴ ùĒęČŏ 

(A) ąđėgƃĒĭ ĘsđĘĈĴ ùĒęČŏ àĻ 

(B) oŁƃĒkŔ ĘsđĘĈĴ ùĒęČŏ àĻ 

(C)  ƘđŎ ėąmĈĒ ùĒęČŏ àĻ 

(D) ąĔíĊĒŔ āĈŧČ onĔÝ aĉī 
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43. Which of the following platform is/are used for video conferencing? 

 (i) Microsoft Teams 

 (ii) Google Meet 

 (iii) Zoom 

 (iv) Google Cloud 

(A)  Only (i), (iii) and (iv)   

(B) Only (i), (ii) and (iii) 

(C) Only (ii), (iii) and (iv)  

(D) Only (i), (ii) and (iv) 

44. Online harassment most accurately comes under 

(A)  Phishing  

(B) Spamming 

(C)  Cyberbullying  

(D) Hacking 

45. Which of the following are true about LAN and WAN? 

 (i) WAN covers more area than LAN 

 (ii) LAN is faster than WAN 

 (iii) WAN is cheaper than LAN 

 (iv) LAN stands for Large Area Network 

(A)  Only (i) and (ii)  

(B) Only (ii) and (iii) 

(C) Only (iii) and (iv)  

(D) Only (i) and (iv) 
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43. üđėċ āĈĆĔnČĆĒŔ èüĔ pđƃĝĘĂđÝ àĻ ČēùĒĘĆđ ĘíđőĂĈŒďĒĀĔ 

uāĘĆđïĒkĔnļ? 

(i) ęąĘŗíđĘďđłƃĝ ÷ēÝŏ 

(ii) ïĕïĒŕ ąēƃĝ 

(iii) ďĕÝ 

(iv) ïĕïĒŕ ėkĞĹ 

(A)  (i) uÝ, (iii) uÝ, (iv) uÝ ąđŗüÝ  

(B) (i) uÝ, (ii) uÝ, (iii) uÝ ąđŗüÝ 

(C) (ii) uÝ (iii) uÝ  (iv) uÝ ąđŗüÝ  

(D) (i) uÝ (ii) uÝ  (iv) uÝ ąđŗüÝ 

44. ëőęĉŒ Đćđŏėąnĝ èļ ČĒĄđïtĒŔ ėā÷ĔnĔ? 

(A) ĂĒĎĒÝį 

(B) ŏāđąĒı 

(C)  ęďăœ ăĔllĒĆĒı 

(D) ĐđkĒÝį 

45. LAN, WAN enĒČėĆ ďÝănĒcĝ čćĒĆđĆļ èėüĉīđąđĻ? 

(i) WAN, LAN ĘĀkđŕ íĕ÷ĔüŔ ŗāĘþčÝ uŕėkđllƧnĔ 

(ii) LAN ĀĔ WAN  ĘĀkđŕ ĘČïü uŪĝ  

(iii) WAN ĀĔ LAN ĘĀkđŕ ČĒĉ íĔĈČđĻ 

(iv) LAN ėn āĕœŬĀđąÝ ĉđœĴ èćĒĆ ėĀƃĝ Čœkĝ enüđĻ 

(A)  (i) uÝ, (ii) uÝ ąđŗüÝ  

(B) (ii) uÝ, (iii) uÝ ąđŗüÝ 

(C) (iii) uÝ  (iv) uÝ ąđŗüÝ  

(D) (i) uÝ (iv) uÝ ąđŗüÝ 
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46. Choose the correct statement/statements with respect to the National Space Day 

celebration of India: 

 (i) It is celebrated on 23rd August of every year 

 (ii) “Touching Lives while Touching the Moon : India’s Space Saga” is the theme for 

National Space Day 2025 

 (iii) It commemorates the successful landing of Chandrayaan-3 on the Moon 

 (iv) It was announced to celebrate the successful Mars Orbiter Mission 

 (v) It builds greater awareness and enthusiasm among citizens about India’s space 

journey 

(A) All the statements are correct  

(B) Only (i), (iii) and (v) are correct 

(C) Only (iii) is correct  

(D) Only (ii) and (iii) are correct 

47. Newton’s law of universal gravitation states that every particle attracts every other 

particle in the universe with a force, 

2
21

r
mm

GF =  

 Here ‘G’ and ‘r’ are respectively 

(A) Newtonian constant of gravitation (6.674 × 10–11 m3.kg–1.s–2) and distance 

between the centres of masses 

(B) Acceleration due to gravity, 9.8 ms–2 and the distance between the particles 

(C) Gravitation constant (6.674 × 10–11 m3.kg–1.s–2) and the radius of the particle 

(D) Acceleration due to gravity, 9.8 ms–2 and the product of radii of the particles 
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46. inŖĆĔė÷ ĘþčēĆ ăĐĒćđíđč þĒĀđĘðđĎėt ďÝănĒc čćĒĆđĆ 
ČđíŖÝ/ČđíŖšŕ ėüćėŧ÷ĔkĔí 

 (i) eĉīđ ČœĎČĔÝ àïsĝ 23 ŀ àòćĒcƧ ČćĔnĔ 

(ii) ‘òŗnėĀ ėüđ÷ĔĘmđŕ ôēČĒüšėĊ ŏāœčĒkŔ : inŖĆĔė÷ 

ăĐĒćđíđč ďđï’ enüđĻ ĘþčēĆ ăĐĒćđíđč þĒĀÝ – 2025-ėĉ  
āüĒāđþÝ 

(iii) iļ òŗnĆđŒ òŗnĀĒŔ ČĒôĆíćąđĆĒ iĈšĒĆüĒėn ŏąćûkđĆĒ 
èœėp÷ĔtĒĆüđĻ 

(iv) iļ ėòđv ŗĄąûāýþĞüŖtĒėn ČĒôĆďĕòíąđĆĔll àòćûąđĻ 

(v) iļ inŖĆĔė÷ ăĐĒćđíđč þĞüŖšėĊkĔĈĒcĝ āĞćnđœkĒ÷ĆĒŔ 
ČœdĒc àĘČčČĔÝ aČĘăđÿČĔÝ ďĖƈĒkĔnĔ 

(A) eĉīđ ČđíŖšĊƧÝ čćĒĆđĻ 

(B) (i), (iii) & (v) enĒČ čćĒĆđĻ 

(C) (iii) ąđŗüÝ čćĒĆđĻ  

(D) (ii) & (iii) ąđŗüÝ čćĒĆđĻ 

47. ŗāāŦtĒėĉ ëĘćđ íûĒíĆĔÝ ąėƃĉīđ íûĒíėĊĆĔÝ 2
21

r
mm

GF =  en 

čkĒĘĆđė÷ àíœĎĒkĔnĔ enĝ ĀŖĕŨėn ďđœvŗüĒí ïĔćĔüřđíœĎû 

ĀĒĆąÝ ŗāŏüđČĒkĔnĔ. iļ ‘G’ & ‘r’  enĒČ ĆýđŗíąÝ  ___________ 
àíĔnĔ. 

 (A) ĀŖĕĘŨđûĒĆŒ ïĔćĔüřđíœĎû sĒćđŠÝ (6.674 × 10–11 m3.kg–1.s–2) & āĒū 
Ęíŗnšŕ ümĒĉĔll þĕćÝ 

 (B) ïĔćĔüřđíœĎûÝ ąĕĉąĔll üřćûÝ (9.8 ms–2) & íûĒíŕ ümĒĉĔll 
þĕćÝ 

 (C) ïĔćĔüřđíœĎû sĒćđŠÝ (6.674 × 10–11 m3.kg–1.s–2)  & íûĒíĆĔė÷ àćÝ 

 (D) ïĔćĔüřđíœĎûÝ  ąĕĉąĔll üřćûÝ (9.8 ms–2) & íûšĊƧė÷ àćšĊƧė÷ 
ïĔûĀĂĉÝ 
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48. Pick the correct statement/s with respect to Global Warming Potential (GWP) : 

 (i) Refers to the quantity of heat trapped by a greenhouse gas in the atmosphere 

compared to carbon dioxide.  

 (ii) GWP of a gas depends on its radiative efficiency only 

 (iii) Methane is the gas used as reference to calculate the GWP 

 (iv) GWP is often calculated over a 100-year period 

 (v) GWP concept is used to balance the ecosystem exchanges of multiple greenhouse 

gases and for developing strategies to reduce greenhouse gas emissions 

(A)  All the statements are correct  

(B) Only (ii) and (iii) are correct 

(C) Only (i), (iv) and (v) are correct  

(D) Only (ii), (iii) and (v) are correct 

49. Identify the correct groupings based on the announcement regarding IUPAC Top Ten 

Technologies in Chemistry 2024 

(A)  Active adsorption, Aptamers, MXenes, Triboelectric nanogenerators 

(B) Artificial muscles, Aptamers, Photocatalytic hydrogen, Triboelectric 

nanogenerators 

(C)  Active adsorption, Aerogels, MXenes, Sodium-ion battery 

(D) Aerogels, Nanozymes, Sodium-ion battery, Solar fuels 

50. In 2016, four new elements were added to the modern periodic table, thus completing the 

seventh period of the periodic table. Choose the odd one among the below elements that 

does not belong to the list of newly added elements : 

(A)  Moscovium (B) Tennessine 

(C)  Oganesson (D) Livermorium 
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48. àĘïđĊ üđāĀ ďđdŖü (Global Warming Potential, GWP) ďÝănĒc čćĒĆđĆ 
ŗāŏüđČĀ/íŕ üĒćėŧ÷ĔkĔí 

(i) íđœăő ęù ëĭęďùĒėĀ aĘākĒcĝ anćēktĒŔ oćĔ 
ĐćĒüïĖĐ ČđüíÝ íĔ÷ĔkĔn üđātĒėn aĊČĒėĀ ďĕòĒpĒkĔnĔ 

(ii) oćĔ ČđüítĒėn GWP aüĒėn ČĒíĒćû íđćŖkąüėĆ ąđŗüÝ 
àŗčĆĒcĒćĒkĔnĔ 

(iii)  GWP íûkđkđŒ ĈĂĈŒďđĆĒ uāĘĆđïĒkĔn ČđüíąđĻ ąēĘýŒ 
(CH4) 

(iv) GWP āĉĘpđċĔÝ ĀĕĈĔ ČœĎėt íđĉĆĊČĒĉđĻ íûkđkĔnļ 
(v) onĒĉÿĒíÝ ĐćĒüïĖĐČđüíšĊƧė÷ àČđďČŖČsĆĒėĉ 

ęíąđƃšŕ ďnĔĉĒüąđkĔnüĒĀĔÝ ĐćĒüïĖĐČđüíšĊƧė÷ uľ- 
ČąĀÝ íĔĈkĔnüĒĀĔll üŗnšŕ ČĒíďĒpĒkĔnüĒĀĔÝ GWP àčĆÝ 
uāĘĆđïĒkĔnĔ 

(A) eĉīđ ČđíŖšĊƧÝ čćĒĆđĻ 

(B) (ii) & (iii)  ąđŗüÝ čćĒĆđĻ 

(C) (i), (iv) & (v) enĒČ čćĒĆđĻ  

(D) (ii), (iii) & (v) enĒČ čćĒĆđĻ 

49. IUPAC ćďüŗntĒėĉ ąĒíc ātĝ ďđĘŠüĒí ČĒþŖíŕ 2024-ėĉ 
ŗāîŖđāĀėt a÷ĒsđĀąđkĒ čćĒĆđĆ ŗïĕpĒÝïĔíŕ üĒćĒcĈĒĆĔí  

(A) àĭƃēŌ aĹĘďđœŁĎŒ, aŁ÷đĘąœŏ, eÝeĭďēŒŏ, 
ęŗ÷Ęăđiĉĭŗ÷Ēkĝ ĀđĘĀđ ôĀĘĈĘƃœŏ 

(B) íĖŗüĒą ĘāčĒíŕ, aŁ÷đĘąœŏ, ĘĂđĘŨđíđƃĉĒƃĒkĝ ęĐŗùôŒ, 
ęŗ÷Ęăđ iĉĭŗ÷Ēkĝ ĀđĘĀđ ôĀĘĈĘƃœŏ 

(C)  àĭƃēŌ aĹĘďđœŁĎŒ, eĘĈđôŔ, eÝeĭďēŒŏ, ĘďđùĒĆÝ 
aĘĆđő ăđƃĈĒ 

(D) èĘĈđôŔ, ĀđĘĀđďĆŒŏ, ĘďđùĒĆÝ aĘĆđő ăđƃĈĒ, ĘďđĊđœ 
inĀšŕ 

50. 2016-Ŕ àÿĔĀĒí àČœtĀpŨĒíĆĒŔ ĀđĉĔ āĔüĒĆ ąĕĉíšŕ 
ĘòœkėpŨƧ. ašėĀ àČœtĀpŨĒíĆĒėĉ èċđąėt āĒćēĹ 
āĕœtĒĆđĆĒ. üđėċėkđ÷ĔtĒćĒkĔn ąĕĉíšĊĒŔ ĀĒnĝ āĔüĔüđĆĒĘcœt 
ąĕĉíšĊƧė÷ āŨĒíĆĒŔ uŕėp÷đt oƃ ąĕĉíÝ üĒćėŧ÷ĔkĔí 

(A) ĘąđŏĘíđČĒĆÝ (B) ė÷nďĒŒ 

(C)  oïėĀďő (D) ĉĒČœĘąđĈĒĆÝ 
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51. Helen is 41 years old and her daughter is 9 years old. How many years from now will 

Helen be three times as old as her daughter? 

(A)  3 (B) 5 

(C)  7 (D) 9 

52. In a Mathematics examination, the pass percentage was 87.5%. If 7 students failed, how 

many students appeared for the exam? 

(A)  48 (B) 56 

(C)  46 (D) 54 

53. A group of 5 men or 12 women can complete a particular task in 78 days. How long will 

it take for 5 men and 12 women working together to finish the same task? 

(A)  44 (B) 39 

(C)  36 (D) None of these 

54. The fifth term and the eighth term of a geometric progression are 27 and 729 

respectively. What is its 11th term? 

(A)  19683 (B) 59049 

(C)  6561 (D) 27729 

55. How many times greater is 0.18 than 0.004? 

(A)  35 (B) 40 

(C)  50 (D) 45 
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51. iĘpđŕ ėĐĉŀ 41 ČĆsƧÝ ąíŕkĝ 9 ČĆsƧąđĻ. eŗü ČœĎÝ 

íċĒŧĝ ėĐĉŀ ąíĊƧė÷ ąĕnĒćŨĒ ŗāđĆÝ uŪđíĔÝ?  

(A) 3 (B) 5 

(C)  7 (D) 9 

52. oćĔ ïûĒü āćēkĆĒŔ ČĒôĆčüąđĀÝ 87.5% àĆĒćĔnĔ. àėí 7 

ČĒþŖđœtĒíŕ āćđôĆėpŨđŔ eŗü ČĒþŖđœtĒíŕ āćēk 

eċĔüĒĆĒŨƧŪđíĔÝ?  

(A) 48 (B) 56 

(C)  46 (D) 54 

53. 5 āĔćĔĎnđĘćđ 12 ŏŗüēíĘĊđ a÷šĔn oćĔ ďÝðtĒŀ oćĔ ŗāĘüŖí 

ĘôđĉĒ 78 þĒČďÝ ėíđŪĝ āĕœtĒĆđkđŒ íċĒĆĔėąŠĒŔ 5 āĔćĔĎnđćĔÝ 12 

ŏŗüēíĊƧÝ oćĔąĒcĝ ŗāČœtĒcđŔ aĘü ĘôđĉĒ āĕœtĒĆđkđŒ eŗü 

ďąĆėą÷ĔkĔÝ? 

(A) 44 (B) 39 

(C)  36 (D) iėüđnĔąĉī 

54. oćĔ Ęôđėąŗ÷Ēĭ ĘŗāđŗïĎėn aŦđąėt āþČĔÝ eŨđąėt āþČĔÝ 

ĆýđŗíąÝ 27 uÝ 729 uÝ àĻ. aüĒėn āüĒėĀđnđąėt āþÝ enđĻ? 

(A)  19683 (B) 59049 

(C)  6561 (D) 27729 

55. 0.004 ėĀkđŕ eŗü ą÷šĝ ČĉĔüđĻ 0.18? 

(A)  35 (B) 40 

(C)  50 (D) 45 
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56. A water bottle is priced at Rs. 15/- which includes the cost of both the bottle and the 

water. If the water costs Rs. 12/- more than that of the bottle, what is the cost of the 

bottle? 

(A)  Rs. 1.50 (B) Rs. 2.00 

(C)  Rs. 2.50 (D) Rs. 3.00 

57. John lent Rs. 6 lakhs to Sony for three years at a compound interest rate of 5% per 

annum. What amount will John receive after 3 years? 

(A)  Rs. 6,61,500 (B) Rs. 6,94,575 

(C)  Rs. 6,97,500 (D) Rs. 7,02,450 

58. What is the profit percentage when half the quantity of an article is sold at double the 

price? 

(A)  200% (B) 250% 

(C)  300% (D) 400% 

59. The average age of a group of nine retired persons is 64. When one member leaves the 

group, the average age drops to 62. What is the age of the person who left? 

(A)  68 (B) 72 

(C)  74 (D) 80 

60. What is the minimum number of square tiles required to completely cover a rectangular 

floor measuring 5.25 m by 5.10 m? 

(A) 1190 (B) 1180 

(C)  1860 (D) None of these 
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56. oćĔ ČđŨœ ĘăđŨĒĉĒŀ 15 ćĕā ČĒĉĆĔŪĝ. aüĒŔ íĔpĒĆĔė÷ĆĔÝ 

ėČlltĒėnĆĔÝ ČĒĉ uŕėp÷ĔnĔ. ėČlltĒŀ íĔpĒĘĆkđŕ 12  ćĕā 

íĕ÷ĔüĉđėûŠĒŔ, íĔpĒĆĔė÷ ČĒĉ eŗüĆđĻ? 

(A)  Rs. 1.50 (B) Rs. 2.00 

(C)  Rs. 2.50 (D) Rs. 3.00 

57. Ęôđő ĘďđûĒkĝ 5%  ČđœĎĒí íĕŨƧāĉĒč ĀĒćkĒŔ ąĕnĝ ČœĎĘtkĝ  

6 ĉkÝ ćĕā í÷Ý ėíđ÷ĔtĔ. 3 ČœĎtĒĀĔĘčĎÝ ĘôđûĒŀ eŗü üĔí 

ĉĄĒkĔÝ? 

(A)  Rs. 6,61,500 (B) Rs. 6,94,575 

(C)  Rs. 6,97,500 (D) Rs. 7,02,450 

58. oćĔ ČŏüĔČĒėn āíĔüĒ ĄđïÝ ićŨĒ ČĒĉņkĝ ČĒŔkĔĘmđŕ ĉđĄčüąđĀÝ 

eŗüĆđĻ? 

(A) 200% (B) 250% 

(C)  300% (D) 400% 

59. ČĒćąĒc omļ Ęāć÷šĔn oćĔ ŗïĕpĒėn čćđčćĒ ŗāđĆÝ 64 àĻ. oćĔ 

aÝïÝ ŗïĕpĝ ČĒ÷ĔĘmđŕ, čćđčćĒ ŗāđĆÝ 62 àĆĒ íĔĈĆĔnĔ. eŠĒŔ 

ĘāđĆ ČŖkĒĆĔė÷ ŗāđĆÝ eŗüđĆđĻ?  

(A) 68 (B) 72 

(C)  74 (D) 80 

60. 5.25 ąēƃœ ĀēĊtĒĉĔÝ 5.10 ąēƃœ ČēüĒĆĒĉĔąđĆĒ, òüĔćđíĖüĒĆĒĉĔll oćĔ 

üĈ āĕœŬąđĆĔÝ ąĕ÷đŒ àČčŖąđĆ eƃČĔÝ íĔĈŧ òüĔć ę÷ĉĔíĊƧė÷ 

eŬÝ eŗüĆđĻ? 

(A) 1190 (B) 1180 

(C)  1860 (D) None of these  
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61. The students of a class are made to stand equally in rows. If 3 students are extra in each 

row, there would be 1 row less. If 3 students are less in a row, there would be 2 more 

rows. Then the number of students in the class would be  

(A)  24 (B) 36 

(C)  48 (D) 72 

62. What is the remainder when 969591898785 ×××××  is divided by 100? 

(A) 0 (B) 1 

(C)  2 (D) 4 

63. If ABC and DEF are both 3-digit numbers such that A, B, C, D, E and F are distinct non-

zero digits such that 1111=+ DEFABC , then what is the value of FEDCBA +++++  

(A) 28 (B) 29 

(C)  30 (D) 31 

64. An accurate clock shows 8 O’ clock in the morning. Through how many degrees will the 

hour hand rotate when the clock shows 2 O’clock in the afternoon? 

(A)  144° (B) 150° 

(C)  168° (D) 180° 

65. It takes 8 seconds for a clock to strike 5. How many seconds does it take for the same 

clock to strike 10? 

(A)  16 (B) 8 

(C)  18 (D) 10 



 

 

056/2025-M 

A  -37-

61. oćĔ kđsĒėĉ ČĒþŖđœtĒíėĊ üĔĉŖ ĀĒćíĊĒŔ ĀĒœtĔnĔ. ëĘćđ ČćĒĆĒĉĔÝ  

3 íĔŨĒíŕ íĕ÷ĔüĉđėûŠĒŔ, oćĔ ČćĒ íĔĈČđĆĒćĒkĔÝ. ëĘćđ ČćĒĆĒĉĔÝ  

3 íĔŨĒíŕ íĔĈČđėûŠĒŔ, 2 ČćĒíŕíĕ÷Ē uŪđíĔÝ. aĘpđŕ kđsĒėĉ 

ČĒþŖđœtĒíĊƧė÷ eŬÝ 

(A) 24 (B) 36 

(C)  48 (D) 72 

62. 969591898785 ××××× ėĀ 100 ėíđŪĝ ĐćĒkĔĘmđŕ čĒƈÝ eŗüĆđĻ? 

(A) 0 (B) 1 

(C)  2 (D) 4 

63. ABC, DEF enē ćŪĝ ąĕnk ďÝîŖíĊĒŔ A, B, C, D, E, F enĒČ 

ČŖüŖŏüąđĆ āĕôŖąĉīđt akšŕ àĻ, íĕ÷đėü ABC + DEF = 1111, 

eŠĒŔ A + B + C + D + E + F ėn ąĕĉŖÝ enđĻ?  

(A) 28 (B) 29 

(C)  30 (D) 31 

64. íĖüŖąđĆ oćĔ Ękđkĝ ćđČĒėĉ 8 ąûĒ íđûĒkĔnĔ. ucíċĒŧĝ 2 ąûĒ 

íđûĒkĔĘmđŕ ąûĒkĕœ ďĕòĒ eŗü ùĒŗïĒ íĈšĔÝ? 

(A)  144° (B) 150° 

(C)  168°  (D) 180° 

65. oćĔ ĘkđkĒŔ 5 ąûĒĆ÷ĒkđŒ 8 ėďknĝ e÷ĔkĔÝ. aĘü ĘkđkĒŔ 10 

ąûĒ÷ĆĒkđŒ eŗü ėďknĝ e÷ĔkĔÝ? 

(A)  16 (B) 8 

(C)  18 (D) 10 
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66. If you are the 9th person from either end of a queue, how many people are there in that 

queue? 

(A)  10 (B) 19 

(C)  17 (D) 18 

67. If you write down the first 100 natural numbers, how many times will 8 be repeated? 

(A)  10 (B) 8 

(C)  19 (D) 20 

68. Find the odd man out 

253, 136, 352, 460, 324, 631, 244 

(A)  136 (B) 324 

(C)  352 (D) 631 

69. 4
1  of a tank holds 135 litres of water. What part of the tank is full if it contains 180 

litres of  water?  

(A)  6
1   (B) 3

1   

(C)  3
2   (D) 5

2   

70. Find the next number in the sequence : 1, 6, 13, 24, 41, ? 

(A)  77 (B) 62 

(C)  66 (D) 61 
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66. oćĔ íŖĕ üĔ÷šĔĘmđŕ ĀĒšŕ  ćŪĔ aƃtĔĀĒnĔÝ 9&Ląėt ČŖkĒĆđĻ 

eŠĒŔ à íŖĕČĒŔ àėí eŗü ĘāćĔŪĝ? 

(A) 10 (B) 19 

(C)  17 (D) 18 

67. àþŖ 100  eŬŔ ďÝîŖíŕ eċĔüĒĆđŔ 8 eŗü üČû àČœtĒkĔÝ? 

(A) 10 (B) 8 

(C)  19 (D) 20 

68. iüĒŔ íĕŨtĒŔ íĕ÷đt ďÝîŖĘĆļ? 

253, 136, 352, 460, 324, 631, 244 

(A)  136 (B) 324 

(C)  352 (D) 631 

69. ÷đŠĒėn 4
1  ĄđïtĒŔ 135 ĉĒƃœ ėČllÝ uŕėkđllđŒ íċĒĆĔÝ. 180 ĉĒƃœ 

ėČllÝ uėŪŠĒŔ ÷đŠĒėn eŗü ĄđïąđĻ ĀĒĈŧĒćĒkĔnļ? 

(A) 6
1  

(B) 3
1  

(C)  3
2  

(D) 5
2  

70. ĘŗčûĒĆĒėĉ a÷Ĕt ďÝîŖ íėŪtĔí 

1, 6, 13, 24, 41, ? 

(A)  77 (B) 62 

(C)  66 (D) 61 
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71. __________ supposed to complete these assignments by afternoon? 

 (i) Should I 

 (ii) Aren’t I 

 (iii) Am I 

(A)  Only (i)  

(B) Only (ii) 

(C)  Both (ii) and (iii)  

(D) Only (iii) 

72. Students are advised to refrain _________ bad company. 

(A)  of (B) against 

(C)  for (D) from 

73. A few workers participated in the strike, _________? 

(A)  did they (B) didn’t they 

(C)  will they (D) isn’t it 

74. “Where is the bus stand?” said the young man. (Change into indirect speech). 

(A)  The young man enquired where was the bus stand. 

(B) The young man asked for the bus stand. 

(C)  The young man wanted to know where the bus stand was. 

(D) The young man enquired about the bus stand. 

75. The singer performed __________. 

(A)  at the concert for two hours melodiously. 

(B) melodiously for two hours at the concert. 

(C)  for two hours melodiously at the concert. 

(D) melodiously at the concert for two hours. 
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76. I expressed my strong desire to learn _________ kayaking ________ canoeing to know the 

differences. 

(A)  either…or  

(B) neither…nor 

(C)  both…and  

(D) such…that 

77. There are no less than fifty packets of noodles in the carton. (Correct the sentence) 

(A)  There are not less than fifty packets of noodles in the carton. 

(B) There are no fewer than fifty packets of noodles in the carton. 

(C)  There are not few than fifty packets of noodles in the carton. 

(D) There are not lesser than fifty packets of noodles in the carton. 

78. Next year, I __________ guitar for twenty years. 

(A)  will play  

(B) will have been playing 

(C)  will have been played  

(D) will not be playing 

79. Are we not going to finish the lesson today? (Change into Passive voice) 

(A) Is the lesson going to be finished by us today? 

(B) Will the lesson be finished today by us? 

(C) We are not going to finish the lesson today. 

(D) Will we finish the lesson today? 
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80. His teacher tried at correct him by giving valuable advices. (Correct the sentence) 

(A) His teacher tried to correct him by giving valuable advices. 

(B) His teacher tried to correct him by giving valuable advises. 

(C) His teacher tried to correct him by giving valuable advice. 

(D) His teacher tried at correct him by giving valuable advices. 

81. Yesterday Tim parked in a restricted area and the police _________ his truck. (Choose 

the word that best completes the sentence) 

(A) impounded (B) imprisoned 

(C)  impaled (D) interned 

82. I was _________ when they rang up and informed that I had won a lottery. (Choose the 

correct idiom) 

(A)  flying off the handle  

(B) on cloud nine 

(C)  at loggerheads  

(D) red in the face 

83. It was her first appearance in public as a performer in Bollywood movies. (Give one word 

for the words in italics) 

(A)  Culmination (B) Omnipresence 

(C)  Debut (D) Masterpiece 

84. The company celebrated the accomplishment of all their goals. (Choose the antonym of 

the underlined word) 

(A) Failure (B) Fruition 

(C)  Execution (D) Debacle 
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85. The weather is suitable for sowing seeds. (Choose a similar word for the underlined 

word) 

(A)  congenital (B) congenial 

(C)  contagious (D) converse 

86. Choose the word that is spelled incorrectly. 

(A)  Bureaucrat  (B) Entrepreuneur 

(C)  Intelligentsia  (D) Septuagenarian  

87. “respondez s’il vous plait” means __________. 

(A) Please serve on a silver plate  

(B) Peace be with you 

(C)  You should be responsible  

(D) Answer please 

88. The thieves _________ the apartment while the family was on a vacation. 

(A)  broke into (B) broke down 

(C)  broke up (D) broke away 

89. Antennas ________ able cockroaches to sense their surroundings. (Choose the correct 

prefix) 

(A) dis - (B) un - 

(C) en -  (D) in - 

90. The phenomenon of glowing sea water signifies changes in the marine environment. 

(Identify the plural of the underlined word from the choices given.) 

(A) phenomenas (B) phenomena 

(C) phenomenal (D) phenomenum 
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91. üđėċ ėíđ÷ĔtČĆĒŔ Standard language enüĒėn ąĉĆđĊ āćĒĄđĎĆđĆ 
āþćĕāÝ èļ?  

(A) ąđüĖĄđĎ  

(B) ąđĀíĄđĎ 

(C) ĘþčēĆĄđĎ  

(D) íĖŗüĒąĄđĎ 

92. ĘŗāĎíŒ en āþtĒėn ŏŗüēĉĒÝïćĕāÝ ėüćėŧ÷ĔkĔí 

(A) ĘŗāĎĒí (B) ĘŗāĎĒü 

(C) ĘŗāĎí (D) ĘŗāĎíĒ 

93. ‘üđĘkđŔ’ en āþÝ āĒćĒėcċĔüĔnėüšėĀ? 

(A) üđ + ĘíđŔ  

(B) üđŋ + ĘíđŔ 

(C)  üđĭ + ĘíđŔ  

(D) üđ + ĘkđŔ 

94. üđėċ ėíđ÷ĔtČĆĒŔ čćĒĆđĆ āþćĕāÝ èļ? 

(A) ČĒÿŖđœtĒ (B) ČĒþŖđœtĒ 

(C)  ČĒþŖđœdĒ (D) ČĒþŖđœtĒ 

95. čćĒĆđĆ ČđíŖÝ ėüćėŧ÷ĔkĔí 

(A) aĀŖćĔė÷ íĔƃÝ āćďŖąđĆĒ ėČŨĒtĔĈnĝ āĈĆĔnļ Āĉī 
ĀĆąėĉīn íđćŖÝ eĘpđċĔÝ ëœkûÝ 

(B) aĀŖćĔė÷ íĔƃÝ āćďŖąđĆĒ üĔĈnĝ āĈĆĔnļ Āĉī ĀĆąėĉīn 
íđćŖÝ eĘpđċĔÝ ëœkûÝ 

(C)  aĀŖćĔė÷ íĔƃÝ ėČŨĒtĔĈnĝ āćďŖąđĆĒ āĈĆĔnļ Āĉī 
ĀĆąėĉīn íđćŖÝ eĘpđċĔÝ ëœkûÝ 

(D) aĀŖćĔė÷ íĔƃÝ āćďŖąđĆĒ āĈĆĔnļ Āĉī ĀĆąėĉīn íđćŖÝ 
eĘpđċĔÝ ëœkûÝ 
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96. üđėċ ėíđ÷ĔtČĆĒŔ ăĐĔČòĀćĕāÝ aĉīđtļ èļ? 

(A) ąđćđœ (B) aČœ 

(C)  ÿēćœ (D) òĒĉœ 

97. ‘āđœvüēôđĀē’ en āþÝ ð÷íāþšĊđĆĒ ĘČœüĒćĒkĔnėüšėĀ?  

(A) āđœvüĒĆĒŔ ôĀĒcČŒ 

(B) āđœvüĒĆĔė÷ ôĀĀĒĆđĆĒŨƧllČŕ 

(C)  āđœvüĒ ôđĆĆđĆĒŨƧllČŒ 

(D) āđœvüĒĆĔė÷ ôĀíĀđĆĒŨƧllČŒ 

98. ‘ďœpĀŖđĆÝ’ en ęčĉĒĆĔė÷ aœtÝ ėüćėŧ÷ĔkĔí 

(A) ullĒŔ ČĒĘþřĎČĔÝ āĔĈėą aĀĔímĆĔÝ ŗāí÷ĒpĒkĔí 

(B) ČĉĒĆČėć āĒnđšĔí 

(C)  aĀŖćĔė÷ aÿřđĀtĒėn ĂĉÝ üŨĒėĆ÷Ĕtĝ ôēČĒkĔí 

(D) aÿĒĘkāĒcƧ āĈĆĔí 

99. ŗā + ąđĀÝ enē čbšŕ ĘòœėtċĔüĒĆđŔ íĒŨƧn ćĕāÝ èļ? 

(A) ŗāąđĀÝ (B) ŗāąĀÝ 

(C)  ŗāđąđûÝ (D) ŗāąđûÝ 

100. üĔ÷kÝ üėn o÷ĔkČĔÝ àĆĒtēćĔn aČsėĆ íĔĈĒkĔn āċėŦđĉīĝ 
èļ? 

(A) íĔĉ āċĔkĔĘmđŕ ďÝŗíđnĒ 

(B) ČēŨĒėĉ íđćŖČĔÝ Čćmėt ČēmĔÝ 

(C)  ínĒāĈĒkĉĔÝ í÷ĉđŨČĔÝ oćĔąĒcĝ 

(D) uĈČĔüėn ČĒĊĆĒŔ ęíČcƧ 

 

——————————————————— 
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Space for Rough Work 
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Space for Rough Work 
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 1. S\Lh|  WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. A, B, C, D IÐ} jLsV Aƒq SWLcOWt]sOç 

S\Lh| kOñW°tLeV j¤WOÐfV. 

 2. S\Lh| kOñW¾]R£  oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh| kOñW Aƒq SWLcV 

A\ÿa]\ÿ]ŸOºV. 

 3. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh| kOñW Aƒq SWLcV AvqORa kq}ƒL zLt]Rs 

Cq]Õ]a¾]¤ SqXRÕaO¾]p]q]¨OU. 
 4. j]°¥¨jOvh]\ÿ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh| kOñWoLeV 

sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa èÈp]¤RÕaOS¾ºfLeV. 
 5. S\Lh| kOñW NWo jÒ¡ kOrU\ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWo jÒ¡ CsæL¾ 

S\Lh| kOñWoLeV j]°¥¨V sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç  S\Lh| kOñWU oLã] vL°OW. 
 6. S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ| nLY¾Lp] y}¤ R\p]Åq]¨OU. D¾qRouOfLjOç AjOof] 

sn]\ÿLssæLRf S\Lh| kOñWU fOr¨L¢ kLa]sæ. 
 7. kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj]¨V sn]\ÿ]q]¨OÐ S\Lh| kOñW¾]¤ 100 S\Lh|°tOU 

NWooLp] DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ A\ÿa]¨L¾SfL, W}r]pSfL, 

v]ŸOSkLpSfL Bp Sk^OW¥ DºLW]sæ; AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa èÈp]¤ 

RWLºOvq]WpOU ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU R\SáºfLeV. 

CfV JãvOU NkiLjRÕŸfLeV. 

 8. CT S\Lh|SkÕr]Rs  1 oOf¤ 70 vRqpOç S\Lh|°¥  CUYæ}x]sOU KTSh|LY]W nLxp]sOU 

(ospLtU) Bp] A\ÿa]\ÿ]q]¨OÐO.  CT S\Lh|°tORa A¡ÀU f¡²o IÐ]v yUmÌ]\ÿ 

yUwp°¥¨V CUYæ}xV oLi|o¾]sOç S\Lh|°tLeV BiLqoL¨OÐfV. 
 9. S\Lh| kOñW¾]R£ AvyLj Sk^]jO RfLŸOoO¢ÒV  KÐOU IuOfL¾ qºV Sk^OW¥ S\¡¾]ŸOºV. CfV 

D¾qU WºOk]a]¨OÐf]jOç WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV. 
 10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 

èÈLkP¡vÿU vLp]¨OW. 
 11. wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (A), (B), (C), (D) IÐ jLsV D¾q°¥ fÐ]q]¨OU. 

wq]pO¾qU RfqR´aO¾V K.IU.B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç 

wq]pO¾qU yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj DkSpLY]\ÿV 

WrOÕ]¨OW.  
 12. KLSqL wq]pO¾q¾]jOU KqO  oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU  oL¡¨V 1/3 

jìoLvOWpOU R\áOU. D¾qU SqXRÕaO¾L¾  S\Lh|°¥¨V oL¡¨V jìoLvOW-p]sæ.  

 13. kq}ƒLyopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]^]SsãRr J¤Õ]¨LRfSpL KqO 

DSh|LYL¡À]pOU  kq}ƒLzL¥ v]-ŸV kOr¾OSkLWL¢ kLa]sæ.  
 14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒ-p]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 

ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp]  NkX|Lk]¨OÐfLeV. 

BNbuGTG¡ÀWR¥¨Jç dW¡NÇq°¥ 
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